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BELL 1
HE=172.0/F=148.0
B—76.0/W—57.0/H—88.0
E—/L#-25

HW-BELL 1/ £5FZ—PW 1
ER-BELL 1/ EFH—PWE

BELL 2
HE—172.0/F—148.0
B—75.0/W—57.5/H—86.0
E—lL&-25
HB-BELL 2/ EFR—PW A
ER-BELL 2/ £F%—PWE

BELL 3

HE—172.0/ F—1480
B—75.0/W—57.5/H—86.0
E—iL&-25

HM-BELL 3/ 5FE-PWD
ER-BELL 3/ EFE—PWA

BELL 4
HE—172.0/F—148.0
B—76.0/W—57.5/H—89.0
E—LE-25

HE-BELL 4/ EFE—PWD
ER-BELL 4/ £EE—PW D



BELL 5
HE—172.0/F—148.0
B—77.0/W—56.0/ H—88.0
E—/IL&-25

HF—BELL5/ BEF%—PWS5
AB—BELL5/ £F%—F

BELL 6
HE—171.0/F—148.0
B—77.5/W—57.5/H—88.5
E—IL&E—25

HB—BELL 6/ EF%£—PWD
#B—BELL 6/ EF%&—PWF

BELL 7

HE—172.0/ F—148.0
B—74.0/ W—57.0/ H—86.0
E—=IL&—25

AR—BELL 7/ AF%—PWD
EB—BELL 7/ EF%—PW A

BELL 8
HE—171.0/F—148.0
B—77.0/ W—58.0/H—89.0
t--JI:i!i—-z;S

HFE—BELL 8/ BF%E—-PWS
%EB—BELL 8/ EF%—PWF
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